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QUESTION 1

When creating a copy of an existing rule set what components are copied? 

A. Pattern action, classification, dictionary 

B. Pattern action, classification, dictionary, lookup tables 

C. Pattern action, classification, dictionary, override tables 

D. Pattern action, classification, dictionary, override tables, lookup tables 

Correct Answer: C 

 

QUESTION 2

Which statement represents the survivorship rule execution order? 

A. Order of the rules is irrelevant. 

B. The last rule takes precedence. 

C. The first rule takes precedence. 

D. The Survive stage will sort and order the rules. 

Correct Answer: B 

 

QUESTION 3

Click on the exhibit button. 
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After examining the results of this investigation as shown in the exhibit, which mask type was used to produce the
results? 

A. C 

B. N 

C. T 

D. X 

Correct Answer: C 

 

QUESTION 4

Which of the following is true for a group of records to be contained in a match group? 

A. the composite weight calculated during the match procedure is less than the match cutoff threshold 

B. the composite weight calculated during the match procedure is less than the clerical cutoff threshold 

C. the composite weight calculated during the match procedure is equal or greater than the match cutoff threshold 

D. the composite weight calculated during the match procedure is equal or greater than the clerical cutoff threshold 

Correct Answer: D 

 

QUESTION 5

What are the two output fields provided by the COUNTRY rule set? (Choose two) 

A. Verified flag field 

B. ISO country code field 

C. ISO country name field 

D. Explicit or default flag field 

E. Rejected address reason code 

Correct Answer: BD 

 

QUESTION 6

Which of the following is true when considering missing values in match? 

A. Always populate with a null. 

B. Always populate with a single space. 
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C. Always populate with spaces to the length of the field. 

D. Always populate with a consistent value (e.g. "X" or "999"). 

Correct Answer: A 

 

QUESTION 7

The QualityStage match specification shows these two records to be matched: John J. Smith John 

A. Smith Which option would you use to break the two apart? 

B. agreement weight 

C. disagreement weight 

D. data source missing weight 

E. reference source missing weight 

Correct Answer: B 

 

QUESTION 8

You are looking to modify the USADDR address rule set for your companies QualityStage data cleansing application.
How can the word investigation reports be used to help in the task of modifying the rule set? 

A. Add tokens to allow more duplicates to be identified 

B. Correct spelling errors in the reported address fields data 

C. Identify new tokens to allow additional address words to be classified 

D. Identify new matches to get additional address words to be used in match designer 

Correct Answer: C 

 

QUESTION 9

Real-time Reference Match requires Candidate records to be retrieved from the database. What is a best way to select
match candidate records? 

A. Select candidate records based on blocking fields. 

B. Select candidate records based on matching fields 

C. Select candidate records based on database unique keys 

D. Select candidate records based on record address and name natural keys 

Correct Answer: A 
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QUESTION 10

What needs to be done before you execute a match specification? 

A. Compile the match specification 

B. Provision the match specification 

C. Provision then compile the match specification 

D. Validate the match specification using the match test designer 

Correct Answer: B 

 

QUESTION 11

When Blocking field/fields for a householding match deduplication procedure, which two fields would be best used for
matching? (Choose two) 

A. Zip Code 

B. Unit Type 

C. First Name 

D. Street Suffix Type 

E. NYSIIS of Street Name 

Correct Answer: AE 

 

QUESTION 12

Based on the survivorship rule shown below, which statement is correct? SIZEOF(b.StreetName) 

A. The length of the street name of the shortest name will be the one selected 

B. The length of the street name with the longest name will be the one selected 

C. The length of the street name of the Current will be less than the length of the street name of the Best record 

D. The length of the street name of the Best record will always be greater than the length street name of the Current
record 

Correct Answer: B 
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